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T,=V,.e=0096T.m, j=+2x252=353,y=25cm, fir= ”]y=0.067T

v,
fiy =0,fpy = ?” =12T, f=+00672+122=1201T

Ry = uDyh¢Tong = Tp = 9.1T Ry =05 x 113X 1x91x1=514 T

f< dRy,  1.201 < 5014 0.k
el gl g (x5 )25 p (e Sy (rl WS (o0 S5 g 5o odd obml (S0 59 W g a8 g Slaal (58 L Ygene
b g Joo 3l 00 )35 adadlo jo b J 0S8
b g abols sl o (ool B 5 (39 4 3l g 350 abols jio (Lo ¥ s M6 0500 gy 5 oslinl 258
tp =8 mm Jlal 3,5 culis Ay = 13 X 0.8 — 2(1.6 + 0.2) X 0.8 = 7.52 cm?
GV, = PO.6F, Ay = 9.74T Vy < ¢V, 0.k
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M, = ¢My, = $pZ;F, = 073, M, < pM, 0.k
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V,=241T, V.=¢V, =¢06FA, =134T, M—”+ (I;‘)2 =0.16 ,0.k
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Ry, = 0.6F,Apy + UpsF Any < 0.6F,Agyy + UpsFyApe
Agy=(4+5)xt=72cm? Ay =(4x1t) —05% 1.6 X t = 2.56 cm?,
Ap, = (4+5)xt—15x%x1.6 Xt =528cm?
L, 0.6F,Any + UpsFyAny = 11721 + 9472 = 215T,  0.6F,Agy + UpsFyApe = 19.8T
¢R, =1458 T, V,< ¢R,  o.k
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